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Addition




Addition

EYFS
Method Concrete Pictorial
| e e
o 00000
o0
o0
Bonds to 10

Composition

[s1els

cllizanesl T {10 )

P e 3 G

R
Adding one 0
more
Add within 10,
practical

context




Addition

Year One

Method Concrete Pictorial Abstract
Combining Q @ 5+1=6
two parts to l+5-6

make a

W D |6

Fact Families O O | +5=6 G
_ addition Q0O 2 ! _.IS . ?
=5+
facts O O 6=1+5 e 0
Number
bonds within S0 3+2=5
- | D P
Number LJLIE et OOO‘OO 3+7=10
bonds to 10 AL . OOOlOO
tAddtirr:g ﬁﬁ*ﬁ;“ 4+5=9
cgeter 0000
There are 6 beads on a
Rekenrek,
. Push 2 more beads.
Adding more How many beads are
there now!?
6+2=8
Find a part S5isapart,___ isa part

and 9 is the whole.




Add by counting

First there were 5
cars in the carpark.

Then 3 more cars parked.

on within 20 Now Now there are 8 cars in the
car park.
a
] a
: o+
= e 4+5=9
Add ones by ®
using number E: +® 14+5=19
bonds : :
. 4+15=19
® e
: - E:
a a
Find and make - ggggg
number bonds to 16 +4=20
20 00000
ool ole) | @OI0I00
Doubles > mm Double 4 is 8




Addition

Year Two
Method Concrete Pictorial Abstract
3 cubes and 7
Bonds L JE ) . ~ | ¥ @ @ @‘O‘O| counters
to 10 " » e o | @ OOO‘O‘O|
== 3+7=10
0 ®¢ 00 3+15=18
® e 000 I5+3=18
Fact 00000 00000
families o e Qo0 00000 000
[ X J

2 ones + 3 ones =

Qe aaen
o o > &
Related I \ 5 ones
+
Facts ‘ 2tens+3tens =5
tens
60 shaded, 40
E)OTSS 2 unshaded.
NOnEEE 60 + 40 = 100
81}82}33[8& 85| 86|87 |88|89|90
e e e e— 46 + | = 47
Add Is O 505009089 46 +2 = 48
—0 %S+ 46 + 3 =49
Add b -
V4
; 00000 COCO +5=10+
making 00 8+5=10+3




Add
three - 00000 e
digit }—H{—H # 6+8+1=15
number 80000 |
s
|
Add to E E B8 The base 10 shows
the next ae 67.
10 e 67 + =70
. .
10 = 10 more than 37 is
more e 47.
Add 10s o e 37 + 10 = 47

26 + =31
Add - +4 +1
) 5€;7 28 29 30 31 32 33 34 35 36 37 38 39 40
acrossa | [TV TN TTIIT0 L Lol

| | | | I I | | | 1
10 @6) 27 28 29 30 31 32 33 34 35 0 0

Add
two 2-
digit
number

s (not _}_
across a L\
10)

‘ Im ’ Tens Ones
N 42 +27 =68

Add
two 2- [ e ones |
digit | ‘ T o
number - I . 25+ 46 =71
\ =~} N
(across ..
o I




Addition

Year Three
Method Concrete Pictorial Abstract
Apply —
humber wBdL LI Ve @ A
g [ 0000 400 + 500 = 900
-H“"“"AJ i’ Tens
. . . Hundreds Tens Ones
Add Is LA : ) $ | & | 8% 243 + 5 = 248
e [] n [ ° oo . . 351+ 30 ="
| ‘ : a =
Add 10s B .m | | iggig 5tens + 3 tens = 8
e = 3% tens
; i) I 351 + 30 = 38|
Add 100s . + .. 100 + 600 = 700
24(8\+ y2=
T b2 i) mee
10 R o g
R ; R SIS DO
248 250 254
350 + 80
There are 5 tens
Add 10s s == e and 8 tens = 13
‘ ‘ m tens.
® w® o 1]
acrossa 100 | w3 - - nl @ @ 350 + 80 = 300 +
130
350 + 80 =430
B ) Hundreds Tens Ones
Add two 000800 ©00 (0000|0000 el
numbers (no ﬁL 3145
e + 0000000 |00 + 4132
exchange) . 4 OF




Hundreds

|
Add two | '; g :
numbers NEYERE
(across a 10) . | SRR
{1 ‘ 1
A "W ”[( s
Add two HIT O
numbers + 5;\(’ > 466
(across a +/3/5/3
100) 819
I a Hundreds Tens -
Add 2-digit L — = | = |Tlo
and 3-digit S T Tel3
numbers G Hy
40 47 + 53 = 100 47 + 53
Complements 10 40/\50 7+3=10
to 100 fal ot 10 40 + 50 =90
DROENGOGE % %0 90 + 10 =100




Addition

Year Four
Method Pictorial Abstract
Th H T - |
gseoogeg | v
Add up to two 4- +/2/5/3|2
digit nuqul?er\:svS no O cc
exchange @@ @@ OO 00
+ OO0 O
(100
th [ H [T [o]
e 00 0000 mialTlo
® © 8@ gg 3356
Add 4. +/2/4 3|5
it rombers -~ ane ©¢|00|00]00 LB
exchange + o0 0 |00 1
K/a
L10]
th [ H ][ T [[o]
e (@0 00|00
e |0V 000 ThH T O
©0|00 4673
Add two 4-digit @) +1/5/1/8
Eumbers—mhore ) gg (10 gg 61,9 1
than one exc ange 1 1
+ (100 00
] _100
© O




Addition

Year Five
Method Pictorial Abstract
Th H T o
e 00| 00|00 .
e ® 00|00 31516
Add whole 0 00 + 4 35
numbers with 4 791
more than four o0 OO 00 7
digits ©® O go
Add fractions with
3 1 4
the same | | - | I R
denominator 7 7 7
Add.fra.ctions ------------------ 1 + 1_4 + 1_5
within | | s 2 8 8 8 8
Add fractions with : ; ; : 3,5_6,5_11_ 1 3
total greater than | i E i i 4 8 8 8 8 "8




Addition

Year Six
Method Pictorial Abstract
+ 3,000 + 500 +20 +2
} } } } } TThTh H T O
40,265 43,265 D E] D 4 0 2 6 5
Add integers TTh Th H T o + 3 5 2 2
e ©e 8@@@@ 00COO
000 |900000 ©0
T O ¢ Tth Hth
Add decimals numbers gg ® Oug g
with a different o0 41216
number of decimal +_3:0 2
places 00, LA 4.5t6 2
@
3 2 11
Add simple fractions 4+ ==
5 15 15
2 1 10
Add any two fractions ==
% 4 3 12
T
[ I




Subtractlon




Early Years

Subtraction

Method Concrete Pictorial
| less (within 5) v?.:%:? e;;? *

L P o= XL I

7




Subtraction

Year One
Method Concrete Pictorial Abstract
Take | less than 6 is
away/crossing e0® 0 OQ 5.
out ) : 2 : 6 subtract | is 5.
Take away Dmm 000 000 “‘( 9-3=6
(How many %k@){g 5 % X g% There are 6
left?) v A RXRTTR A/ children left.
Subtraction on — = T T T 10_4=6
a number line 01234567809%m: 01l 234567849I0
counting back k} 9_3=¢
verbally
8 is 2 more than
ﬁ‘ﬁ 'E I ' ; 6 is 2 less than
s = ‘ 8.
S ¢ e The different
find the L.I.I. e o &%g%%g between 8 and 6
difference LI ) I )| ® is 2.
90000 5_4=

The difference
between 5 and 4
is 1.

Missing number 5_4=|
problems .
Subtraction @@@@@ @@@@@ 5-3=2
within 20 ® @@ ®@® I15-3=12




o0 o 00
(AN 2K A BN J
Subtracting 10s @ | 90000 00000
and Is ®e[o[®]0| 00000 000
®]efe] | |
eo[o[®[0]®
® 00 o0 0O —
Subtraction | 00000 I‘ ‘ ‘ 13 |_33 =5 10
bridging 10 ’l _ILAE. 008 ® 10-2=8
Subtract ones ' _ e 13-5
using number 5 13-3=10
bonds 789101 121B1#%i51 -2 -3 10—-2=8
5 6 7 8 910 Il 213




Subtraction

Year Two
Method Concrete Pictorial Abstract
TS 8 subtract
‘ 6is 2.
Subtracting I“!! I! So, 8 tens
multiples : %%%W sul;tract 6
of 10 p— - tens is 2
tens.
9-3=6
39-3=
Subtracting Biens _aluones T O 36
a single- e . ®e @
digit III . -l T ro
number l 2 ¥ = A
- 3
3 6
sl [55] 09| o/0/[0/0)[00 #8 2
Subtract 10100 el 0800 0080
%0004 ).47;‘*4 .. .. ... 30
across 10 }ﬁi}‘ ES\LH OO0 30-1=
T " eeoee !! !! .!! 29
Subtract ] I;)0_—66;4
froma |0 \ 44
Subtract a '-zr/ T(?
| -digit
number E !
from a 2- —é‘
digit 3 (T) O
number 2 Z|'s
(Across a i ¥
10) ) 8
3 tens — |
ten =2
Sul?g;act B8 tens
aa 36 -10=
Qe

26




415
Subtract - a
two 2-digit Tens Ones | ;
numbers R 3 EEBEA ﬁé
(not across T)O
a 10) 4|5
112
3) 3
Tens Ones T O
T 4 5
1 27
Tens Ones 3T |O
S 9909@ 4 '5
ubtract %%@ 999 — 2 7
H V) PP
two 2-dgit i .
numbers R X
(Across a Tens | Ones 3T |O
10) ® 990099 4 '5
% E @ 29 ORR =D T
RRRERR
8
Tens Ones 3T .O
90 ® gg A '5
99O _
%E\@\ RRRERR ? ;




Subtraction

Year Three
Method Concrete Pictorial Abstract
Subtract H T 0
s | | a2
H g 0 ag
vor 319 - 4
oy R 3194
— H T E]o 319 -4 =
i o% 315
ox
3 | q
Subtract
|0s H ) O 8 tens — |
o ten = 7 tens
38l —10=
il [ 371
Subtract B
100s e 4-2=2
N 400 - 200 =
maus 200
Subtract
I's across H i 0
a 10 “H | T | O EEEEE ) 151 -6
I51 -1 =
HHHH * 4. |50
RRESRAR < H T (0]
I ,,|I ' : 2 00000 I50_5=
s EEEE RN 145
A §
Subtract
920 - 50
|10s across , _30 - 20
>/ 920-20 =
2 100 = -20 9 900
—t t t ¥ t d | I I | |
'3"0 900 920 870 900 920 e @ 900 -30 =
870




T (O)
4|5
Suz:/r:ct Tens | Ones Ones i
o
numbers II SR 3)
-
(no Mo
exchange) A6
-1]2
3)3
[ tens  [Ones T
Subtract Tens | Ones e — )
two —— :-‘ i e 67|12
numbers = CmED -l4]5
- AL
(across a 2 2]7
10) 2 7
Subtract F“ | TG Hundreds| Tens
« | W " wilo
et Z113]2
numbers it
(across a I"l | -
100) w‘
Subtract a MEar
2'd|g|t [ 0 Hundreds Tens 4 45|12
P
number e¥ine _ 43
from a 3- 4109
digit
number
HTO
0 99 9
L _35 2
Subtract a 7
3-digit i
number IIII P 2 : (:
froma 3 & o
digit 4 7
number (no | |, - .
exchange) -
-3 52
6 4 7




Subtract a 3-
digit number
from a 3-
digit number
(exchange)

o

HT
I

X

o

N[00 ou»g

3
I 3

175 - 38 = 137




Subtraction

Year Four
Method Pictorial Abstract
Th H T (0)
Th H in (o ) _I Z g g
(©) (0] OOEOE
)
- = Th H(T)O
Th H 1 (o] 1 2|50
@ ®E® COORN) - 4120
Subtraction with — 20
exchange R T 5 5o
LT T 1T 00NN 1 ale
OEOOERY
SN __8J3 o
Th | H 7 0 KmIH T o
00000 COORN e 2 @
OOEORR - |4 2 0
NN 8 3 0
Th(H T)O
2 |48 '0 | 2
- 2 4|3
A ST
Th [ H ] [9)
Subtraction with e @—»"’ 88%88 e Tzh :5' qT;a '2
exchange across - 2|4 3
more than one Th H T o)
column @ 0000 [COOOKC 00000
!@@@ OOOOO
.© 00 Th H T O
2 43 9'9'2
. 2 4 3
2 2 5 9
Th H T
Subtract two 4- ©® 00 00|99 ThH T o
digit numbers — @ @29 09 @9 - ? ‘21 2 :
no exchange & S 1230




Thousands

Hundreds

Subtract two 4- .. Th '} LI
.. 341" 6
digit numbers — . MEAEAERE
one exchange 2193
Syl?tract two 4- o
digit numbers — #0512
more than one -12/411/5]
11637

exchange




Subtraction

Year Five
Method Pictorial Abstract
TTh Th H T o |
o) 00000|0000C000 oooﬁﬂ‘ L
[eje] 57 35
- 2 5 8 2
3
Now subtract the 10s. Exchange | hundred for 10 ter
S.
TTh Th Ao T [ o | '
Subtract whole ° m”:;”“:;;::"”"‘ skl 0
numbers Wlth. more i A
than four digits 5 3
Subtract the 100s, 1,000s and 10,000s.
TTh Th H [ T o |
TThTh H T O
° 000Z® ;%Cﬁﬁgzzggoooiﬁ " il
DD = 2 5 8 2
I 3 1 5 3
O - Tth Hth
5.7 4
0 . Tth Hth S . B
00000 A COHOOL 00O
OO
Exchange | tenth for 10 hundredths. O - Tth Hth
0 . Tth Hth 5 =% 14
00000 (00000 eeeee qZ2e0 B
: . OOOG®
SubtracF decimal 0000
numbers Wlth the same Now subtract the 5 hundredths. O - Tth Hth
number of decimal ) Tth Hth R
places @0000| 00000|/ee0ee -1l
PP s
Now subtract the 2 tenths, then the 2 ones.
(] . Tth Hth O - Tth Hth
0000P |(OCOOOY @OOO® 5 -7 '4
. DD ORI =2+ 32 5
PPEP -
Subtract fractions with - } = < _
the same denominator 5
N e R 1 1 5 4
Subtract fractions —_—_— == —
------------------------ 3 15 15 15 15

Subtract from a mixed
number

Subtract from a mixed
number — breaking the
whole

Subtract two mixed
numbers

———y




Subtraction

Year Six
Method Pictorial Abstract
Th H T (0]
©e |[9ReBBOOCON00000 i E 0
® NN NSO 48 ¢ A
- 53 4
2 | 4 5
Subtract integers
Th H T O
-1 5 5 8
3 9 4
Subtract decimal
.numbers with a 2% ARE
different number of olela
decimal places AL
Subtract simple b ; E b 2 1_5
fractions 3
Subtract mixed E ____;,__..—-—-i-"‘ i 3 11_ | + 5_ 45
numbers . 4 8 8 8




Multiplication




Early Years

Multiplication

Method

Making pairs —
2 of the same

Concrete

Pictorial

Doubles to 10




Multiplication

Year One

Method Concrete Pictorial Abstract

2) 4, 6, 8’

- | BBERBRB P PR B | v
in 2s 84 bd bd &d &d .' .' .c |8,2o,

22,24

5,10 15,

20, 25,
Count 30, 35,
in 5s 40, 45,

50, 60,
70, 80,
90, 100

There
are 3
equal
groups
with 9 in
each
group.

60
10, 20,
Make
equal

30, 40,
groups

- DEEE :
¥

There
are 2

e ouns
?’gllJJals with 3 in
srotP each

group.
3+3=6

4+4+4
+4+4
=20
5x4=
20

0o o000
Make o0 000
arrays oo 0090
oo © 00 5+5+5
+5=120
4x5=
20




)' @
) @

Make : ‘ 5+5

doubles ole m + ‘31 I ‘31




Multiplication

Year Two
Method Concrete Pictorial Abstract
There are 3
Recognise groups of 3
& & & ‘ chairs.
equal groups 15 chairs
altogether.
There are 3
Make equal equal groups
groups with 9 in each
group.
There are 2
equal groups
Add equal with 3 in each
groups
group.
3+3=6
There are 3
equal groups
Multiplication 0000 0000 0000 with 8 in each
symbol 0000 0000 0000 group.
8+8+8=24
3x8=24
& & & 6 lots of 5 = 30
Multiplication @ @ @ @ @ @ 6 multiplied by 5
sentences =30
& & & 6x5=30
4+4+4+4+
0 000 00000 4=20
0 o0 000 00000 5x4=20
se arrays ®
oo &0 00000 5+5+54+5=
o 2089 00000 20
4x5=20
The2cmes | ougupnmngy | SIS 5x2= 10
. . IR L
Doubling e G Ix4=8




The 10 times-
table

=== I

I OO A<=




Multiplication

Year Three
Method Concrete Pictorial Abstract
Multiplication There are
— equal 7 equal
groups groups
o ‘ S " with 2 in
group.
: There are
14
altogether.
Use arrays There are
3 rows of
apples.
There are
3 lots of 5
apples.
3x5=15
Multiples of 2,4,6,8,
2 OB EEB 10, 12, 14,
1] [} 16, 18, 20,
2 122,24,26
2 » £%, 20,
28, 30, 32
’ ’ 9
El & 30 34, 36, 38,
o | 40,42, 44,
81} 8]
4] & 50 46, 48, 50
oiJi82l03 0718804
m 115 1]
Multiples of
5 ples o
1]2]3]+|5]6]7]8]a]l0
I{12]13[I+|I5]16]17]18|14]20 1 2 3 4 5 6 7 8 9 10
21122{23[24{25{26{27|28|29|30
31]32]33)34|35|36]37{38|34|+0 11 |12 |13 |14 |15 | 16 | 17 | 18 | 19 | 20 5. | 0 |5
[ R 5 8 ) 2 ) 2
51]52[53]5.[55]56]5758[54]60 21|22 23 |24 [25| 26 |27 | 28 | 29 | 30 20, 25, 30,
61]62|63[64+|65]6667|68|69| 70|
71[72]737]75[76]77[78]79]80) 3132|3334 pEa 36 | 37 | 38 | 39 0 35, 40, 45,
81182|83|8\+|85|86|87|88|84|490 50
qilaz|as|as|as|asla7 qsqu - 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
10ifio2fio3}ioJiosfioslio7]) 110
i uz[n3[in-Ji5]efi7]effizc




123

5

I1{12]13 1+

15

21122232\

25

31]32|33|3%

35

12 |13 |14 | 15 | 16 | 17 | 18 | 19

10, 20, 30,

. o |w2fe3lus]us
Multiples of 51[5253/5: 55 22 (23|24 | 25|26 |27 | 28|29 40, 50, 60,
' S PPy v ey oy g 70,80, %0,
81[82[83[st[85
alfaz]as|a|as 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49
iolfiozfio3joios
MR E M
There are
5 equal
groups
> &S > &S &> with 3 in
Multiply by 3 Cl él each
Cq $ group.
Qo ©0 Qo Qo o 3% 3 4+ 3
+3+3=
15
5x3=15
There are
6 groups
D) l) o0 00 00 with 4 in
. 1 U 00 00 00 each
Multiply by 4 group.
) [> [00] [00] [00] AR
o D oo 00 00 b4t 4
4=24
6x4=24
There are
4 groups
with 8 in
8+8+8
+8 =32

4x8=32




Multiply

a 2-digit
number Tens Ones 2 tens x 4
bya |- = 8 tens
);igit OO o | one x 4
number OO o Zo4+02e_s
exchange OO o 84
OO o 2l x4 =
84
Mulciply Tens Ones 2tens x4
a 2'd|git - ... ) m = 8 tens
number e aunee| 4 ones X
bya l- . Eaasanmas) 4=16
digit EaanaEEEEn) L L L L ones
number O o 24 x4 =
— with . e o | e 80 + 16 =
exchange EEEEEEEEEN] p—— 9y ?(64 )

S o -

96




Year 4

Method Pictorial Abstract
o
Multiples of 3 3,6,9,12, 15, 18, 21,
24, 27, 30, 33, 36
o o [« [ ] »|
There are 4 boxes.
r_‘ K‘ ‘/‘ r“ Each box contains 6
) ) ) ) eggs
Multiply by 6 e (o (Ao (A0 ges.
ply by x'@,‘%é \'\0_‘-9% \l\.ﬁg \'\.ﬁg There atrstirt eggs in
4x6=24
000
00
000 There are 9 rows of
09000 oranges.
000 g
Multiply by 9 There are 36 oranges
000 :
b b b b in total.
000 9x4=36
909000
4 sevens
Multiply by 7 4 lots of 7
4x7=128
Crrrrrrrrr) @
CCCCOIIT 3 elevens
I | times-table . 3 lots of |1
Crrrrriiin @ 3x11=33
000000000000
000000000000 2% 12
AN J _
. | 2x10=20
|2 times-table 2x10=20 2x2=4 _
N , 2x2=4
| =
> %12 =24 20+4=24
5x1=5

Multiply by |
and 0

4x0=0




seaw .,
aeaan
: aaaa
Multiply three 2x4 - -
numbers BB R ] 3x2x4=3x8=24
111 I
aeaaea
000000000000
000000
000000 I x12=12
Factor pairs 2x6=12
0000 3x4=12
0000
0000
\IEEEEEEEEE
Multiply by 10 EeSEEEEEEE 3x 10 =30
CITTTTrrTrrT
Multiply a 2-digit (®]®) 0000 2 ‘3‘
ngrnier byba - (10 10) 0000 1]2 (4% 3)
igit number 60 (20 x 3)
00 |0000 aE
Hungreds | Ters [N
Multioly a 3.diei ©0 000 |0000 HT|o
ultiply a 3-digi
number by a |- 00 OOO 0000 » 213 i
digit number (too] o0 Q00O 0000
©0 000 0000




Year5

Method

Pictorial

Abstract

Multiply by 10,
100 and 1,000

i

10 x 10 =100
10 x 100 = 1,000
10 x 1,000 = 10,000

Multiply a 4-
digit number by
a |-digit
number

e

(&)

Multiply a 2-
digit number by
a 2-digit
number (area
model)

20

O 0 O | CQIrrerrTy ey | X

23 x 22
400 + 60 + 40 + 6
= 506

Multiply a 2-
digit number by
a 2-digit
number

10 x I5 =150

10 x 15 =150

N A UV
vl o o0

Multiply a 3-
digit number by
a 2-digit
number

(123 x 3)
(123 x 20)

ol lw w




Method |
©ee6e - 00000) 3225 Method 3
©ee 6 > 00000) 3225
@608 - 00000) 892 2 5 3,000 200 20 5
©eeeerr00000) + 3 2 2 5 4| 12,000 | 800 | 80 | 20
1 2900
Multiply a 4-digit T 12,000 + 800 + 80 + 20 = 12,900
. Method 2
number by a |-digit
number Method 4
3225
x 4
4 x 3,000 4x200 4x20 4x5 M
12,000 + 800 + 80 + 20=12,900 : 2




Year 6

Method Pictorial Abstract
Method | I 2 35
Multiply up to a 4- 1,000 200 30 5 * :
digit number by a 2- 20 {20,000 | 4,000 | 600 | 100 , L 3 (3) (5) '2;:(2'32535
digit number I| 1000 | 200 | 30 5 2 5935 2x1235
- Tth Hth .21 x 10 =12.1
/1 @
: O
: O
: cot
. : D ¢ O
Multiply decimals by - O
10 O
: O
: @
1
v v v
© 00 O
10 | 20 | 30 | 40 | s0o | 60 | 70 | 80 | 9 046 x 100 =46

Multiply decimals by
100

1 2 3 4-|— 5 7 8 9
I
0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9

0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09

Multiply decimals by
1,000

o0 o 00
® D 1,000
H | T [T07¥ Tth | Hth [ Thth
o0 o 80

0.213 x 1,000 =213

Multiply decimals by
integers

T ST T

@00 10009, ©©




0O Tth Hth
©0 ©®®® @
OO0 2.2 4
Multiply decimals in 3
context OO | J X
6¢7 2
6 ° 7 2

|
Multiply fractions by |
integers 0

- 4
N -

1 11 “x7=2 =
Multiply fractions by 2 % 4_ 8
fractions 375 15







Early Years

Division

Method

Equal
sharing

Concrete

Pictorial




Division

Year One
Method Concrete Pictorial Abstract
Equal There are 15
groups - @ g 5 altogether.
grouping = = There are 3
cocoe o0 SOOOS parts.
eocce 00000 oo0te | P . | 15 shared into
3 equal parts.

They get 5 <1 each.

There are 5 in
each part.

Make
Equal
groups -
sharing

COXXY
S i Sl S
XY
(e

4 groups of 5
cars is 20 in
total.

20 divide by 4
is 5.




Year Two

Division

Method

Concrete

Pictorial

Abstract

Make
equal
groups

sharing

00000 00000 00000

ol
=4
(—] =
SCOOCS OO OO
|

[ 1

A WA AL
< <K <K<K 1<

RN RN RN
U <K<K <) <K<K

They get 5 <=7 each.

There are
15
altogether.
There are
3 parts.
|5 shared
into 3
equal
parts.
There are
5 in each
part.

Make
equal
groups

grouping

COXTY
G > G > |
XY
S $ige i e

4 groups
of 5 cars
is 20 in
total.
20 divide
by 4 is 5.

Divide
by 2

Lo hsd

There are
12 eggs
altogether.
There are
2 groups.
There are
6 eggs in
each
group. 12
+2=6

Halving

& & &

There are

8 cherries

altogether,

half of 8 is
4,

Divide
by 10

0000000000
0000000000
0000000000

There are
30 apples.
There are
10 apples
in each
row
(group).
There are
3 groups.
30+ 10=
3




Divide
by 5

rrrrj
Crrrrj
(£566686)
(£6666)

20 birds
altogether.
There are
5 birds in

each

group.

There are
4 groups.
20-5=4




Year Three

Division

Method

Concrete

Pictorial

Abstract

Sharing

00000 00000 00000

SOCOOS COODS SOOOS

REBRBRBIBRBRRBRRBR|IBBRS RN

There are
15
altogether.
There are
3 parts.
I5 shared
into 3
equal
parts.
There are
5 in each
part.

Grouping

> G G G
Y
Y
g S S G S

4 groups
of 5 cars
is 20 in
total.
20 divide
by 4 is 5.

Divide by 3

A

12 tens
shared
into 3
equal
groups
with 4
tens in
each
group.
120+ 3 =
40

Divide by 4

"'\"\
~~ AN

¢ @

3|

e
A
e &
S
—_—
- 6
i~
R —
P~
—~ N
\ i’

48 divided
into
groups of
4.
There are
|2 groups.

48 + 4 =
12




[\ 24 counters
Divide by 8 ) YD b L shared
lvide by eo[ce[ce[ce[ce[ce[0e[0e]| | cquall
[ 0 () q 8)'
into
groups.
24 +8=3
Divide a 2- ) \) ,)
digit :
number by ) > (O 000} 39+3=
a |-digit ) A '
number — Q o°° 3
o 0® O | 000
exchange
42 + 3
® | Tens [T ones ]
» @) O
Dividc!e'ta 2- ‘ O O
igi K
number by l © o 40 +3=
a |-digit . Remainder 10 exchanged for 10 ones. I 4 -
flexible .
partitioning ' O 0000
O 0000
©) O |0000
94 + 4
[10]10 gﬁ
Q0
Divide a 2- 00
digit 00
number by QO 94+ 4=
a |-digit Remainder 10 exchanged for 10 ones. 23r2
number —
s Tens [ Ones |
remainders OO 000 0
00 |000 o
OO0 |000
Q0 (000




=
<
E.
o
3

Year Four
Method Pictorial Abstract
00O
- °° °°°° 24 divided by 6 groups is
Diide by 000000 !
000000
0000
0000
% % % % There are 9 rows of 4
b b b b oranges.
Divide by 9 2000 There are 36 oranges in
total.
31 B
D000
0000000
(. 0000 .) 28 divided into groups of
. 7.
Divide by 7 (. . . . ’ . .J There are 4 groups of 7.
28+4=7
0000000
I'l times-table division Oo 66 = 11=6
facts Qa '
©0
12 times-table division 000000000000 24 shared i:‘;° groups of
facts 000000000000 vt a e 12
3 pairs grouped into one
bag.
3+1=3

Divide a number by |
and itself

@ 7

7 cookies shared between
7 friends.
0 cookies are left.
7+7=0




140 ~ 10
140 = | hundred and 4

_ L] R

There are 14 groups of
10.
140+ 10= 14

Divide by 10

3400 + 100

[

Th H

m e -
o0 |00
o |00

3400 + 100 = 34

Divide by 100

Q00000000000

Divid 2-digit b OO o
Ivide a 4Z-digit number
& 00 |0

by a |-digit number
QO (1)
QO (1)

84+ 4=2|

Tens

Divide a 3-digit number
by a |-digit number

Q0O

0000

QO

0000

Q0

0000

QO

Q000

@)

97 + 4=24rl




Division

Year Five
Method Pictorial Abstract
380+ 10
3|80
(elefefele]ele]z]2]c7]
380
Divide by 10 /\ 380 + 10 =38
10 x O
3400 + 100
Th H T o
o0 o0
® ( X ] =100 =
Divide by 100 3400 = 100 = 34
Th H T o
o0 o0
@ ( I
N 4,000 + 1,000 = 4
Divide by 1,000 ’ o B
1,000 x D
T 0
4[4 8 :::..
0 - = 0556
A nre 0o :::.. 713 38 39 4
. = = 3,892 + 7 =556
12
44 a
Use multiplication to
check.
Divide a 4-digit 0 ER s loy outthe
number by a |-digit “jaz  Sesesse premE 556 x7=7
number T o Hct)wqmtany?groups of 4 go 6x7=42
) m ’ .. fefgtr(;ldzzoflstens with | ten 50 X 7 - 350
B = o ixcer:(:cgrgcleotziésten left 500 x 7 =3500
S ::::: We now have |12 ones.
Ll 3,500 + 350 + 42 =
2 T [ o } How many groups of 4 go 3,892

sl 0l0 OO into 12 ones?
' %&3 @ 3 groups of 4 ones.




Lay out the problem

T o]
as short division.
6|8 0
| T o How many groups of 6 go
2 into 8 tens?
|5 01010 010) o e
Divide with There is | group of 6 tens.
remainders There are 2 tens remaining. 683 =136 x5+ 3
13 r2 T o How many groups of 6 go 683+5=136r3
6 [? 2 into 20 ones?
] & There are 3 groups of 6
% ones.
There are 2 ones remaining.
o Tth Hth
© EEOEO
o Tth Hth
o "\ » .1\ o
Q:" é@f 88 O |« [Tth| Hth | Thth
- o+ 8] 5.
o Tth Hth 0 |sPo M8 35

Dividing decimals by
10, 100 and 1,000

This is equivalent to 10 tenths and 50 hundredths.

| 5is | one and 5 tenths.

10 tenths divided by 10 is | tenth.

50 hundredths divided by 10 is 5 hundredths.
| 5 divided by [0 is | tenth and 5 hundredths.
I5+10=0.15

085+ 10=0085

O | |Tth| Hth | Thth

(o0}
/
.

54

0 [ =8 T35

85+ 100 =0085




Division

Year 6
Method Pictorial Abstract
ki U 0 f How many ) 0
groupsof6 | 6|1 '3 2 0
. ®®® .. are in 100? 61 '3 2
H T O ( How many ) 0 2
@——) OO | 0@ groupsof 6 [ 61 '3 2
Dividing by a single :gO D ISenst) 6 |7? .; 3
digit <
H T o ( How many ) 02 2
OOROE) [@@@@@) | groursofe [6]1 312
OOROC) 09O (= 2 onesy 5B 8
A s[5z
Th H T (@]
N N[ /7 N\
©0(©O)|OO| 00
Dividing by a single (oeoYo0n) M100 g 21131

digit

ee

4|8 5214

Dividing by a 2-digit
number using factors

QO
1,260 + 14 =7
1,260
1,260 + 2 = 630
630 +7 =90

1,260 + 14 =90

2,100 —

2,100 —

2,100 —>

2,100 —>




036
3 {2 2 42 43 12[413]2
182 d|V|ded |nto groups of I3 3 3 g (1230
There are 14 groups. =12 (12%6)
5 0
13 377 |
10 ?
I3| 130 l 247 ‘
Long division
10 10 ¥ 0/4/ 89
3| o | B0 | w | 15[773[375
6 0 00 (15 x 400)
1335
11200 (15 x 80)
29 1135
i = - 1.3/5 (15%9)
HIERER R 0
377 +13 =29
0/2/4r12
15[37]2
Long division with % (1520
remainders 60 (15 x 4)
12
0.12+10
| tenth = 10 hundredths
0.12 0.12
—~ ' = | hundredth = 10 th dth
(@ o JooJoafoafoaoaifoa oot oat 6o) unare otsandtns
© 60000600000 0.12+ 10 =0.012
@R W~ 1T oo TomTome oo oo ol
Dividing by 10, 100 312 =+ 1,000
and 1,000 H T O ¢ Tth | Hth | Thth 312 is 1,000 times the size of
o0 00 0.312.
@
$ #1000 0.312 is one-thousandth the
H T O ¢ Tth | Hth | Thth size of 312.
000 00
@ 312 + 1,000 =0.312




Dividing decimals

o T [ o
i

1+3

54'3




